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lmlmVYrjVY[gZ\]^hjc
a Z\azs ��Z\]kVY[HstVYXt]^�Knz[kVmi^X�VmlY]^h8w%VYr8x%ë�ßVoZ
ik�t[kVY_`VYab]ki`c\ev]^�zV�[kVoZ\r�ikVoZ�i^�zcµ� ]^�@Z\]¨]^�zV�r8h8azVoZ\['�$Zmw%V _`cMstVYr�hjiÌc\e�]kVYa´cow%VY[^r8x
ikh8_'Xtr8hji^]^hjl�Z\azs rjVoZ
sti$]kcÌVY[^[kc
[ki�h8a ]^�zVWXt[kVms hjlY]kVmsÕlY[kVmi^]$�zVYh8���b]°õ¹h8a*stVmVYX*�$Z\]kVY[kiP÷�c\e"Z\�¤c
�t]
�o~��D��~���ë��$�zVv_`cMstVYr�loZ\a��¤Vvlmc
[^[kVmlY]kVms��bx`�zikh8at�! DikVmlmc
azsM�1c
[kstVY[#"H]kVY[^_`i&]^�@Z\]�Z\r8rjco�·h8aR]kVY[��
Z
lY]^hjc
aziW�¤VY]1��VmVYa ]^�zV°VYrjVY_`VYaR]gZ\[^x�lmc�ikh8azV°�$Zmw%Vmioë y c
r8rjco��h8at�$�WZ
ikikVYr8_�Z\ata×õ��o�����%÷ön����zVY[kV
]^�zV:stVY]gZ\h8rjVms�stVY[^h8w�Z\]^hjc
aziHZ\[kVW��h8w%VYaKnz]^�zV �R�@Z
s [gZ\]^hjl�lmc
[^[kVmlY]^hjc
a ηq

hjiC��h8w%VYaÕ�bx

ηq(x, t) =

N
∑

n=−N

N
∑

m=−N

An

2

Am

2
E(ωn, ωm) ei(ωnt−κnx)ei(ωmt−κmx), õ��%÷

���zVY[kVv]^�zVHZ\_'Xtr8h8]^�zstVmi A nMZ\at���tr¡Z\[�e�[kV��b�zVYazlYhjVmi ω Z\azs`�$Zmw%VHab�t_°��VY[ki κ igZ\]^hji^e¹xÌ]^�zVCigZ\_`V[kVYr¡Z\]^hjc
azi�Z
i�h8a']^�zV�r8h8azVoZ\[�_`cMstVYr>ë"�$�zV �b�@Z
s [gZ\]^hjlö�>]^[gZ\azi^e�VY[�e��tazlY]^hjc
a E(ω, ω̃) n�]gZ\£%VYa'e�[kc
_�FZ\[^]^�th8azikVYaßZ\azs � h8aR]kVY[ki^]kVYh8aÝõ��o�����%÷önthjiC��h8w%VYaÕ�bx

E(ω, ω̃) =

gκκ̃
ωω̃

− 1
2g

(ω2 + ω̃2 + ωω̃) + g
2

ωκ̃2+ω̃κ2

ωω̃(ω+ω̃)

1 − g κ+κ̃
(ω+ω̃)2 tanh(κ + κ̃)h

− gκκ̃

2ωω̃
+

1

2g
(ω2 + ω̃2 + ωω̃), õ��%÷

$



���zVY[kV κ, κ̃ Z\[kVv�$Zmw%VWab�t_°��VY[kiC���thjlk��Z\[kVdlmc
_'Xt�t]kVms �zi^h8at�Ì]^�zVHs hji^X¤VY[ki^hjc
a [kVYr¡Z\]^hjc
a�e¹[kc
_]^�zV¨Z\at���tr¡Z\[Ce�[kV��b�zVYazlYhjVmi ω, ω̃ nt[kVmi^X¤VmlY]^h8w%VYr8x%ë � V¨Z\rjikc�Z
ikik�t_`V�]^�@Z\] E(ω,−ω) = 0 ë$�1]Chjih8_'X¤c
[^]gZ\ab]¨]kcÕazc
]kV`]^�@Z\]�e�c
[°Z\abx X¤c�i^h8]^h8w%V ω Z\azs ω̃ ]^�zV'e�c
r8rjco��h8at�ßikxR_'_`VY]^[^xF[kVYr¡Z\]^hjc
azi�zc
rjs�� E(ω, ω̃) = E(ω̃, ω) n E(ω, ω̃) = E(−ω,−ω̃) Z\azs E(ω,−ω̃) = E(−ω, ω̃) ëW�$�zVmikVXt[kc
X¤VY[^]^hjVmiCh8_'Xtr8x ]^�@Z\] ηq
hjivZ¨[kVoZ\r �>w�Z\r8�zVms*ô@VYrjs�ë

�$�zV�stVY]kVY[^_'h8athji^]^hjl¨fMVmlmc
azsM��{H[kstVY[�fR]kc
£%Vmi � Zow%V�hji�]^�R�zivstVöôzazVms�Z
i
ηN (x, t) = ηl(x, t) + ηq(x, t), õ>��÷

���zVY[kV ηl
Z\azs ηq

Z\[kV�]^�zV`r8h8azVoZ\['Z\azs �R�@Z
s [gZ\]^hjl�Xt[kcMlmVmikikVmi:��h8w%VYa��Rx
�#�MioëK�FZ\azs�� n,[kVö�
ikX�VmlY]^h8w%VYr8x%ëÕ�$�zV*��Z\�zikikh¡Z\aÅikVmlmc
azsM�1c
[kstVY['ikVoZ*hji°c
�t]gZ\h8azVmsÅ�Rx�Z
iki^�t_'h8at�ß]^�@Z\]:]^�zV�lmc
_Ì�
XtrjVö§·Z\_'Xtr8h8]^�zstVmi An

n n > 0 nCZ\[kVßh8azstVYX¤VYazstVYab]ÕZ\azsÖazc
[^_�Z\r8r8xÀs hji^]^[^h8�t�t]kVmsÓw
Z\[^h¡Z\�trjVmionh>ëêV�ë An = σn(Un − iVn) n����zVY[kV Un, Vn
Z\[kV°h8azstVYX�VYazstVYaR] �oVY[kc�_`VoZ\a
Z\azsßw
Z\[^h¡Z\azlmV¨c
azV

��Z\�ziki^h¡Z\aFw
Z\[^h¡Z\�trjVmiµnKZ\azs σ2
n
hjid]^�zVÌVYazVY[^��xßc\e&�$Zmw%Vmi���h8]^�
Z\at���tr¡Z\[We�[kV��b�zVYazlYhjVmi ωn

Z\azs
−ωn

ë
{ve¹]kVYa�h8]�hji°Z
igi^�t_`Vms
]^�@Z\]°]^�zV`r8h8azVoZ\[Ì��Z\�ziki^h¡Z\aÅXt[kcMlmVmiki ηl

�@Z
iÌZ*i^X¤VmlY]^[gZ\r&stVYazi^h8]Dx%ëy c
[ Z igVoZ _`cMstVYrv��h8]^�Ör8h8azVoZ\[�c
azVö�1i^hjstVmsÓi^X�VmlY]^[^�t_ S(ω) n 0 ≤ ω ≤ ωc
n$���zVY[kV ωc

hji
]^�zV�lY�t]�c���e�[kV��b�zVYazlYx%n/�&V'stVöôzazV η(x, t) = limN→∞ ηN (x, t) n/���zVY[kV ηN (x, t) hji���h8w%VYa�Rx
�#��ë,�Më*�$�zV«h8azs h8wRhjs �@Z\r���Zow%Vmi°�@Zow%V�Z\at���tr¡Z\[:e¹[kV��R�zVYazlYhjVmi ωj = jωc/N

Z\azsÅVYazVY[^��x
σ2

j = S(ωj)∆ω n j = 1, . . . , N n ���th8rjV ∆ω = ωc/N
ë

�1a ]^�zV¨e�c
r8rjco��h8at�ß�&V'�zigV ηN (0, t) n/�t�t]�h8a
c
[kstVY[:]kc*i^h8_'Xtr8h e¹x�]^�zV'azc
]gZ\]^hjc
a
��V`i^�@Z\r8r��[^h8]kV η(t) e�c
[ ηN (0, t) ë��Da*_�Z\]^[^h § e�c
[^_Õn h e"�&V�stVöôzazV
Z(t) = [(U1 − iV1)e

iω1t . . . (UN − iVN )eiωN t]T = X(t) + iY(t),

Z\azs
Q = [qmn], qmn = (E(ωm,−ωn) + E(ωm, ωn))σmσn, õ�|%÷
R = [rmn], rmn = (E(ωm,−ωn) − E(ωm, ωn))σmσn,

σ = [σn], σn =
√

S(ωn)∆ω,

���zVY[kV m,n = 1, . . . , N ���������
η(t) = σ

TX(t) +
1

2
X(t)TQX(t) +

1

2
Y(t)TRY(t). 	�

�

ñ �W© í ð��Ì¯:®�î«¬,¬ ìYí Í ìYí ­!� í ¬ ì ­��
��������� ��������� η(t) � � � � �������������� �!��#"��� �� � ���#�%$&� �'��� ���#��(� ��*)+� ���+,.-0/ �1���32��+ ��54#�6�1�74#�
η̇(t) �98*� � � � �������:� / �# ;�=<'8*��2?>��+4#��> u ���1���&�@8*(A��)+����2B� ���DC �+ ;� / �1� � � � �1���&(� ��E)�� ���
η(t) )� �� ��� � � u ���F�1�'� � (HGI�# �2J2��7 ���)@�1�7��� µ+(u) ��� �3K �74��+� C !

µ+(u) =

∫ +∞

0

zfη(0),η̇(0)(u, z) dz, 	 �ML �
N



G����� �� fη(0),η̇(0)(u, z) � � �������������
� 2��+� � �5� ! � / η(0), η̇(0)
,�� ��� � C � 4#�3)�> � ��� �7)M�#>' �� ��� >7�

� � )M�#>7>���2�����)���� ��/ �� � � > �	� � ����
 ���#2 C �+���1�� ;�+���#> , 	 � 

� $ � / �# �� (� ��E� / ,3- �;� � �M� � ! ���
)�����)�� �������=��� � �� �1�7� K �1��� $ � ����� ���#� 2���� � �7� ! � / η(0), η̇(0) ���
�1����� , � L G���>7> K �74��
��� , % �'G��5�1� Tz = 2π

√

λ0/λ2 �#��2 Hs = 4
√

λ0 ��G����� ��
λi =

∫ ∞

0

λiS(λ) dλ, 	 ��� �
� ���')�� Var(η(0)) = λ0 �#�'2 Var(η̇(0)) = λ2

,
- �F�1�'� ��� K �7�����+ ��7� K >��5�1�� ���� �  ��#����� , �ML � � � / ����� ��� �+2 ���=)�� � ( � ��� �1��� � (A)� �� �����

��� K ���
�1�+� � �5� ! µ+(u) �+4��+� / �� ��'��� � $ � ����� ���#�J(� ��*)+� ��� � � � � >��#� K � � �1��� 2���� � �7� !?� /
η(0), η̇(0) � � �M4��#��>�� C >7� ,�� ���')��I�����32���� � �7� !D� � �'�#� � ����� � ��>5! 2��@<�����2:�	��� , � L )��#�=���#�C � �� � � G��5�1��� � � � � � � �#2�2'�7�1�7�����#>A)��#��2��7������� ��,�� � G �+4#�� +�A� / GI�  ��+(�> ��)�� =

C !���� ��� u= �� ���#����� K �1���6� �1��� ��� � �#>��5� !J� � 4��#>��72 / �� ��> � � � ���#>�> u � ��� , � L  �� � �#�7� � �� � � ,!� �+�"$# ��>�� 	 � 

� N �.����2%�3!E)���>���� 	 %#L#L�L � / �� �&(' ��E� / �#�'2 �#('(�>��7)M��������� � � / ����)���� � / �� � � >��
��� �*)+�M�#�'� K  1��(��
! ,& !'��� , � L � �����=)�� � ( � �1���1�7��� � / µ+(u)  ��(� � �7 �� � �����)�E�'� G�>7��2 K �%� / �1�'�*���#���
�
2���� � �7� ! � / η(0), η̇(0)

, � � �@8*(�>��7)��5��)+>�� � ��2 / �� � / �� � � > � / �� ;�����+�������
� 2'��� � �7� !B� /
η(0), η̇(0) � / �� �1�'�I(� ��*)+� ��� η(t) 2'�+<����+2 C !,��� , 
*�#� � ���#���H��� G������.(' �� � ���
� 	 �@8*)��+('�
G������ N = 1 � ,%� �+ ��=GI� (� ���( � � �=�1� ��� � � �#2'2�>��+( ���7�
� � �@�1���E2 � �1� �#(�(� ��M8'� � �6�1�
µ+(u)

, - � �� �2'�� �1�F� � (�>7� !J�1�'� � �+�����E2 � GI�=���+��2 �1�����98*(�>��7)��7� / �� � � > � / �� �����
) ��� � > �#�
� K �+���� ����1�7� K�/ � ��)+������� � / η(0), η̇(0)

,
� ��� ) ��� � >��#�
� K �����+ 1������� K�/ � �')+�1�7��� � K(s, t) ��� / η(0), η̇(0) � � 2'�+<����+2B� �

K(s, t) = ln(E[exp{sη(0) + tη̇(0)}]), (s, t) ∈ X , 	 � % �
G����� �� X � � �1��� � �+��� / �# K���� ���
� � / �� IG����7)�� ����� >�� � �3�7�
�1� K  1�#>A)����
4#�� K � ��,.- �� �����
(� ��E)�� ���  ��+(� �� � ���
����2 C !/��� , 
 G �=���M4�� �������%	 � ���10J��)����#2�� �#��2��3!E)���>���� 	 %#L�L % �/ �� 32��+�1�#��> � �

K(s, t) = −1

2
ln(det(I − A)) +

1

2
tT (I− A)−1t, (s, t) ∈ X , 	 ��$ �

G����� ��&����� � ���� �� 8 A = A(s, t) �#��2 �1�'� 4#��)@�1�� t = t(s, t) �# �� 2��+<��'��2B� ��/ �#>�>�� G �

A(x, y) =

[

xQ yS
yST xR

]

, t(x, y) =

[

xσ

yWσ

]

. 	 � N �
- � �1��� � ���1 ���)+� � � C � 4����

W = [wmn], wmm = −ωm, �#��2 wmn = 0 � / m 6= n, 	 �32 �
S = QW − WR,

G����� �� m, n = 1, . . . , N � �#��2 Q,R, σ �# �� K �74��+� C !4��� , � ,
2



¬K©«ï*ï�� �I�Ìî ìmí ­ ñ �W­
�FîÌï�¬
� ��� � �#2�2�>7��(A�����
� �#(�(� ��M8'� � �6�1���#� G � � <� � �I�7�
�1 ��E2 � )+��2 C !����#�����+> � 	 � 
 2 N � � 

���#�.� �
� / �# � � >�� ��� �#(�(� �� 8*� � ����� ������(� �� C � C �7>��7� ! 2��+� � �5� ! / � �')+�1�7��� /  �� � �5� � ) ��� � >��#�
�K �����+ 1������� K / � ��)+������� ,�� � � ���#>7>.�#(�('>7!B�'�� ��=� 4��# �� �#�
� � / ����� � �+�1�'�*2 G����7)�� G��7>�>
�#>�>7� G ��� ���%� C ���#�7�F2��� ���)+��>7! �#� �#(�(� �� 8*� � ���������F� / µ+(u)

,
� � � �1�# �� C ! G� ��7����� K ��� , � L � � � / � �')+�1�7��� � / K(s, t) �;�#��2 ��>7� � ��������� �����

���
�1� K  1���������F�#� z

µ+(u) = lim
y→0

1

(2πi)2

∫ t̂+i∞

t̂−i∞

∫ +i∞

−i∞

1

t2
eK(s,t)−su−tyds dt. 	 ��� �

	 � ���=>�� � �5� y → 0 � � ���
�1 ��*2 � )��+2 / �# � � � � �1�+)������7)M�#>. ��M� � ��� �+, � - � �#2�2��5�1�7��� � �����
(����1�J� / ���
��� K  ����1�7���?�7� dt ��� � C �����J2�� / �� � �+2J�1� �1���&4��+ ��1�7)M�#> >��7��� G��7��� Re(t) =
t̂ > 0 �1� �M4����72 �1�'� � ��� K�� > �� ��7� ! �6� t = 0

, � ���+� �1���B�7�����+ ���
�1� K  1��>;�7� ds � �
�#(�(� �� 8*� � ������2 C ! � �M��� � � / �1�'�B����� � 2�� � �+� � �7�����#> � ��2�2�>��+( �#���
� �#(�(' ��M8*� � ���1�7��� �
�#> � � � � � �+�1� � � � )M��>�>��+2	��

����
��
������������� �

1

2πi

∫ +i∞

−i∞
eK(s,t)−su−tyds ≈ 1√

2π
h(t)eg(t), 	 � �#�

G����� ��#� � / GI� 2��+���#��� L(s, t) = K(s, t) − su − ty �
g(t) = L(st, t), h(t) = (L′′(st, t))

− 1

2 , 	 � ���
�#��2 st � � ����� >��E)M�#> � �7��� �D��� � / L(s, t) � / �� <*8'�+2 t 4��#> � � ��,� � G � �'� ��� K ��� , � �D�1��� � (A)� �� ��� ��� K �7�H����� � �7� !F)��#� C � �#('(� ��M8*� � ���1�+2 � �

µ+(u) ≈ lim
y→0

1√
2π

1

(2πi)

∫ t̂+i∞

t̂−i∞

h(t)

t2
eg(t)dt. 	 � 
��

� ��� 2'� ��C >7� ( ��>7� � / �1�'� ���
�1� K  1�#�'2F���4��� , � 
���� �! L � � �#� � �1��� )+� � ( � ���6�1���#�
� / �#�
! �#('(� ��M8*� � ���1�7��� / �� �����%�7�
�1� K  1�#> � � � �+G������&2��#" ) � >5� ,1� � G �+4��+ D�1�'�� �� �# ��� (A��)����#> )M� � � � G��'��� ����� �7�H��� K  ��#> )M��� C � )�� � ( � �1��2%$ �#> � � � �'&D�@8*(�>7��)+�7�1>5! � � �+�%�����/ ��>�>7� G��7� K �98�� � (�>7� ,
(*),+.-0/�13254 �*� (�(A� � � ���������1��� / � �')+�1�7��� � g(t) �#��2 h(t) ���7� ��� , � 
*���# �� � � �#2' 1������)
( ��>5!E��� � � �#> � �E� , K�,

g(t) =
at2

2
+ bt + c, h(t) =

At2

2
+ Bt + C,

G����� �� a > 0
, �;�����'� � ��������G � )��#� )����E� � � t̂ ��� C � �1�'� (A� � �7�1�7��� � / ����� >��E)M�#>� �7��� � �'� � / at2

2
+ bt + c

, � ����� ����� ���
�1� K  1��>3��� ��� , � 
 )M��� C � �@4��#> � �6�1��2 � �
�



/ ��>�>7� G �
1

(2πi)

∫ t̂+i∞

t̂−i∞

h(t)

t2
eg(t)dt = ec

(

A

2
√

a
φ(
√

at̂)+BΦ̄(
√

at̂)+
√

aCΨ(
√

at̂)

)

, 	 %#L �

G����� �� φ(x) � � ����� � ���#�'2��# �2 $&� �'��� ���#� 2���� � �7� !#� Φ̄(x) =
∫∞

x
φ(y) dy �#��2 Ψ(x) =

∫∞
x

Φ̄(y) dy
, � �#�1�F������� C ���1� Φ̄ �#��2 Ψ

/ � ��)+������� � )��#� �'�#� C � )+� � ( � �1�+2 �#��� �
>7!H�1�7)M�#>7>7!��*��� GI�@4��+ �4��+ �!?�#)�) �  1�6�1� �#(�(� �� 8*� � ��������� � 2��%�98*� � � , � ��� � � / � ��)+������� � �# ��
����)+> � 2��+2 ��� � � � � � ��� �� ���)M��> ���*��> C �M8*� �+,�- �� &����� � �M� � �*2��+> G � G���>7> �����+2 �#��>7!
�1���J4��#> � � � � / ����� / � �')+�1�7��� � / �� x = 0

, - �� =�1�'� � � ( �+)����#>;)�� � �?GI�/�H��� G �1�����
Φ̄(0) = 1/2 G����7>�� φ(0) = Ψ(0) = 1/

√
2π

,
�  ��E)��+��2��7� K ���=� � � � �7> �# GI� !�� � ��� �1�'�3> � � � �@8'� � (�>��IG � )M�#� �#(�(' ��M8*� � ���1� g(t)

�#��2 h(t)
C ! ��� �7�1� C >7�F( ��>5!E��� � � �#> � 	 ����� � ! � � �@�1 �! K(s, t) = K(s,−t) � � �#> � �

� � (�>�� !��+2$� � �+� & � �1>��+ 3�+�;�#> , 	 %#L#L % � / �� � �� �� 2'�+������> � � , � �@8E��>7�+���1��� K y
K �=�1�="��+ ��

GI�&2��� ��74#� ����� / ��>�>7� G���� K ��(�(� ��M8*� � ��������� / �# �1��� � (A)� �� ��� ��� K ���
�1�+� � �5� !
µ+(u) ≈ f̂(u)

√

g′′(0)√
2π

(

1 +
h′′(0)

2h(0)g′′(0)
− 1

24

giv(0)

g′′(0)2

)

, 	 % � �

G����� �� g(t) = K(st, t) − stu � h(t) = 1√
K11(st,t)

�#�'2 st

� �6�1� � <�� � K1(st, t) = u
,

� �� ��
K1(s, t) =

∂K(s, t)

∂s
, K11(s, t) =

∂2K(s, t)

∂s2
,

�#��2 f̂(u) � � �1��� � ��2�2�>��+( �#���
���#(�(' ��M8*� � ���1�7��� / �� �1�'� 2���� � �7� ! � / η(0)
K �74#��� C !

f̂(u) =
h(0)√

2π
eg(0). 	 % % �

- � � � G ��>�> �H��� G�� �1����� ����� � �#2�2'>���(A���7�H� 2��+� � �5� ! � / �1��� 2��E� � ���#� ���
�1� K  1����� ���
�����#�#� , � , �5� � � �'�#�.���+)�� ��� �� ���>5! � (� �� C � C �7>��7� ! 2���� � �7� ! / � ��)@�1���#� 	 � ����� , � )�) �  1��)+! )��#�
� / �1�+� C � � � (� �� 4��+2 	 � ��� � �  C �7� � � 

� L � C ! � )��#>��7� K f̂(u)

� � �1�������7�;���
�1� K  1�6�1� � �1�
� , � � 2��+���#��� �1�'� ��� )��#>��+2 � ��2�2�>��+( �#���
�;�#(�(� �� 8*� � ��������� � � f̄(u) �#��2?G � � ���#>7> ��� �
�7� ��� � �  &�98'� � ('>�� � � � , � , GI� 2��+<����%� �  <����#> � �#2�2�>7��(A�����
�&�#(�(' ��M8*� � ���1�7��� µ̄+(u)
� �3/ ��>�>7� G ���

µ̄+(u) = f̄(u)

√

g′′(0)√
2π

(

1 +
h′′(0)

2h(0)g′′(0)
− 1

24

giv(0)

g′′(0)2

)

≈ µ+(u). 	 % $ �

����-02��
	�� +.1
� 2�-0+��
��� 4 - �%�� �2'�� �1� �+4��#> � �����+��� , % $ GI� ���+��2%��� <� � � <��'2 �����
4#��> � � s0 �EG�����)�� � � �#�F� � (�>7��)+�7�1>5!D2'�+<����+2 / � ��)+�������F� / �1��� >7�+4#��> u �E� , � , K1(s0, 0) =

�



u
, & !1�E�'� G��7� K ����� 4��#> � � s = s0(u) ������) ��� � >����1�54�� K �����+ 1������� K / � ��)@�1�7��� K(s, 0)

�#��2D�5� � 2��� ��74������74�� � K1(s, 0) � K11(s, 0) � �1��� / � ��)@�1�7��� f̂(s) )��#� C � )�� � ( � ����2 � � ���')��
g(0) = K(s, 0) − sK1(s, 0), h(0) =

1
√

K11(s, 0)
, g′′(0) = K22(s, 0), 	 % N �

G����� �� K22(s, t) = ∂2K(s,t)
∂t2

, � �@8E�&GI�%)�� � ( � ��� �����%�7�
�1� K  1�#> I =
∫

f̂(u) du �#��2
2��+<��'�&����� ���� � �#>7��"��+2 � �#2'2�>��+( ���7�
�32���� � �7� ! f̄(u) = f̂(u)/I

,

 ��� K �� C�� � � ����>�> ��>7� � ���
���� �! 2��� ��74����1�7��� � �# �� �'����2'��2 �1�B2��+ ��54�� �1�'� �1�� � �7�

��� , % $ � �
h′′(0)

2h(0)g′′(0)
= −1

4

K1122(s, 0)K11(s, 0) − K111(s, 0)K122(s, 0)

K11(s, 0)2K22(s, 0)
, 	 %
2 �

giv(0)

g′′(0)2
=

K2222(s, 0)K11(s, 0) − 3K122(s, 0)2

K11(s, 0)K22(s, 0)2
. 	 % � �

� �� �� K1122(s, t)
� �M�#� � �1�������1���&) ���D� > �#�
� K �+���� ����1�7� K / � ��)+������� K(s, t) � � � G��7)��

2���� �� ����
�1�����1�+2 �#� s ����2�� G���)�� ��� t G�����>7� K122(s, t) �7��2��7)M����� � 2����:�+ ����
��� �������������')����� s �#��2 � G���)�� ��� t
, � ��� �#�1�'�� �2��� ��74������74�� � �# �� 2��@<�����2?���?� � � � ��>��# GI�M! ,.� ���')��/ �� �1��� � �+)�����2 � �� �2��� & 1�#�'2�� � � ��� �����%) ��� � >��#�
� K �����+ 1������� K / � ��)@�1�7��� � K �74#��� C !

��� , ��$ �:� � � )�� � (�>7��)����1�+2J�@8*(� �� ��� ���#� � �1���D(��# ���� �#> 2��+ ��74������74#� � � / K(s, t) ���M4#� �1�C � )�� � ( � �1��2 � ��� �� ��7)M�#>7>7! ,� �@8E� G � )�� � � ���
� ���%�1��� � ����� ��� / <���2���� K s = s0 �*� , � ,.� ��>74E�7� K K1(s0, 0) = u
,

- � �� �2��� �1� �M4��#��2 � ��>54*�7� K �1��� � ������>7�������# �(� � �6�1���#� G �%(' ���(A� � �=���+ ����1� ��� � �����
���
4��+ � � / � ��)+������� s → u = K1(s, 0) � G�����)�� � � ��� � !&�1�;�+4��#> � ���1� , 0 �� �� (� ��+)�� � ��>5! GI�
)����*� � � � 4#��)@�1�� � / s 4��#> � � � �#��2 )+� � ( � �1�;�1���;)��� � �� � ( �#��2���� K u(s) >7�+4#��> � �#��2 �����
)���� � ���#�
� � 2��+<�����2 C ! ��� �+, % N � % � � � �%�1����� �1�'���#(�(� ��M8'� � �6�1���#� � / �1��� � (A)� �� ��� �7� K
���
�1�+� � �5� ! µ̄+(u(s)) )��#� C �I�@4#��> � ������2 C ! � ���#� � � / ��� , % $ , -0/ GI�IG�� � �D���*�H��� G �1���� ( )+ �� ��� �7� K �7�
�1��� � �7� ! / �# �&(��� ��1�7) � >��# u 4#��> � ���HG � ��� � � (�>7����� � �1�&�@8E�1�+��2 µ̄+(u(s))
�1� µ̄+(u)

,
- �7���#>7>7!�� � ����)+� ��� �+, %
2 � % � �7�
4���>54�� ��� K ���+ � �# �2��+ (��# �1� ��>A2'�� ��54����1�54�� � � / K(s, t) �

GI�����M4�����> � ��)�����)�����2 ���=�#>7���� ������1�54�� ��(�(� ����#)�� ��G����7)�� � � �1��)�� � ( � ��� � ��� �+ ��7)M�#>7>7!
g′′(0), giv(0) �#��2 h′′(0)

/  �� � g(t), h(t) �  �� � (A��)@�1�74#��>5! ,�� �'� � �#(�(' ��
�#)��&� �:� �� �� )�� �!�
(�>��7)M������2 ������� �����I)+� � ( � ���6�1���#� � � / �1��� K 2��� ��74����1�54�� � ������2������')�� � >�� GI�+ , � ����)+�I�5�
2���2=���#� K �54�� � �� �����)�) �  1������4��#> � � � �#�'2 �#> � � GI� � � �� �� � � � ��� C >7� / �� >�� G u

� 4��#> � � � �
GI�F���M4#� �'�#� �7��)��� �( �# 1������2 �5� ���
��� � �  D(' �� K  �� � ��,'� ���F(� �� K  �� �%� �# �� ����)+> � 2��+2
��� �B�*-�� 	 � � 4#� � ���#>7! � � �&/ �# - ����� K�� � �#�'2 � )��M����� K  ��#(��
!'� � ���*�#> C � 8 � �M4#����> � C >��/  ������ / )����# K � ���������
	���
��������������
���������
����� �!
"��� �#�$�!� ��
��!��%'&�
	� � ��� &  ��*2'���#�� C �@�
�#> , 	 %#L�L�L � ,

�
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- �J�1��� ��� ��)@�1�7���?G � � ���#>�> 2�� � �#� � �� 1�����&�����D��)�) �  1�#)@!?� / �1��� � ��2�2�>��+( �#���
�;�#(�(� �� 8*� �� ��������� / �� �1��� )+ �� ��� �7� K ���
����� � �7� !�� C ! (� �� � �+�
�1��� K �1���  ���>����1�54�� �� � ��� � � / � � �1� � ���������/ �� �1�� ����&�@8'� � (�>�� ��,� ���3<� � � �@8'� � (�>7�3)���� � ��2��+ � �1�'� � �# � �� G � C �#�'2 � ���
�#��� � GI� 4#� � ���=2����+( GI������ � �
G������ �1��� �1 ��#� � / �� / � ��)@�1���#� E(ω, ω̃) � � (��# �����) � > �# �>7! � � � (�>7�#�E4*�7" ,

E(ωm,−ωn) = 0, E(ωm, ωn) =
ω2

p

2g
, n, m = 1, . . . , N,

G����� �� ωp � � �1�'� (A�M��� /  ���� � ����)@! � / ����� � (A��)@�1 �'� S(ω) � / �1��� >7�������# :(��� �� ηl(t)
, � �� ��>7��)@� S(ω) �1� C � ��� � � ��� � ��� � (A��)@�1 ��� � G����7)��B� � �%(��� 1� � �+�� ���)%	��#���#>5!E����)��#> �/ �� � � > � , � ��� (��# �� � �@�1�+ � )��'� � �+� ���� �� �# �� � � K ���5<�)M�#�
��GI� 4#������� K �
� Hs = 7 � ��� �

( ��� �B(A�� ��7�*2 Tp = 11 � � �+) � �#�'2 (A�M��� �0� ����( �=(��# �� � �+�1�+ γ = 2.385
,�� ���=)���� � ���

) � �=� � /  ���� � ����)@! � � ωc = 3 �  1�#2	� � ��) � � � , � , S(ω) = 0
/ �� ω > ωc

, � ���F(A�M� �/  ��(� � �+��)+! � � �1���+� ωp = 0.574 �  1��2	� � �+) � ,- � �1��� � �+)����'2 �@8'� � (�>7�#� GI� � ���#>�> � �1��>7> )+��� � �72��� �F2����+( GI���1�+ >7�*)����1�7���BG��7���
�1��� � � � �
� � � ��� � � � ( �+)+�� ��� / �� �1��� >��7���M�� (��# ���� C'� �D����� �� 1�#� ��/ �� / � ��)@�1�7���
E(ω, ω̃) G��7>�> C � K �74#��� C !4��� , � , � ����)+� h = ∞ �1���+� E(ω, ω̃)

� � � ('>��7<�� � ���
E(ω, ω̃) =

{ − 1
2g
|ω2 − ω̃2| � / ωω̃ < 0,

1
2g

(ω2 + ω̃2) �#�1�'�� �G�� � � ,
- �7���#>7>7! ����������> � � � �@8'� � (�>�� ����� G �6�1�� 2��+('�1�%� � )���� � ��� �1� C � <����7��� �#��2=�����')��

E(ω, ω̃) � K �74#��� C ! ��� , � �'G���>7> C � � �� �� )�� � (�>7��)M�6�1��2 ,.- � �� �2��+ 3�1�=)����'����)@� �����1���
(� ��@4*�7� ��� �@8'� � (�>�� � GI� � ���#>�>3��� G ��� � �1��� � � � )��#>�>7��2 � 0 ���%� (A��)@�1 �'�?, � ��� � � �
�1��� �98*( �+)+�1�+2 � (A��)+�� ��� ��� <����5�1�%GI������ 2��+('�1� � � )� ��M������2 C ! �1��� � �@�1���# ���>7� K ��)��#>
)�����2'�7�1�7��� � G�����)��F)�� ��� �+2F�1���
� � � ��� � � � (A��)@�1 ��� ���I2����+(FG ������ ��, 	 � C 4E��� ��� >7!C �#����� � � ��� � � �#��2 � 0 � � (A��)@�1 �� �� �� ����>5! � �E2���> �I/ �� I����� �1 � � �0� � �H��� G�� � �M�� (A��)+�� 1� , �- � G���>7> C � � �'� G��D��� ����� � ��)+����2��#�'2 �1�'�� �2&�@8'� � (�>7� � � �1����� / �# (A� � �7�1�54�� u >7�+4��+> � �
�1��� � �#2'2�>��+( ���7�
�D��(�(� ��M8*� � ��������� µ̄+(u) � � 4��+ �! �#)+) �  ����1�=G��7���  ���> �6�1�74#�=�� � ��� � � /
� / �+G (A�� �)����
� ,*- �� ��1��� ���# � �� G � C �#�'2 � �1� �#� � � � �M�%�����D ���> �6�1�74#� �+ � ��� ;� �;C ��>7� G � L
� G�����)�� � � ��� ��)�)��+('��� C >�� �#)+) �  ��#)+! , � �@8E� �1��� / � ��)@�1�7��� µ̄+(u) G���>�> C � ��� ��2 �1�
�+4��#> � ���1� �1��� C � � ��2B2��@<����+2 ���/��� , � / �� ��1��� 2�� � �1 �� C�� ������� � / GI�M4�� )+ �� � � ���+� K �
� ,� ���D��)�) �  1�#)@!F� / ����� C � � ��2FG���>7> C �&)��'��)��#�+2 C ! � ���#� � � / � � � � > �6�1���#� ��,
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� �7��)����1�'���#('(� ��M8*� � ���1�7����� / )+ �� � � 2'� � �� �� C�� �1�7��� C � � ��2 �#� µ+(u) � � � �# �� �#)�) �	�
 1����� / �� ��'� K ���+ GI�M4�� � � GI�D�@8*)�> � 2�� �1�'� ��� �#>7> GI�M4�� � � �#��2 )+� � (��# �� �1��� �#(�(� �� 8*� �� ���������D� / �����3)��#��2��7���������#>*2'� � �� �� C�� �1�7��� � / �1�'�3)� �� � � ���+� K �
� K �54������������ �7� � � ��� K ���+ 
�1���#� h0 = 1

� �@�1�� +�'4E��" ,

P(Ac > h|Ac > h0) ≈
µ̄+(h)

µ̄+(h0)
, 	 % �#�

G��7�1� � � � � > �6�1���#� ��, 0?�� ��;(� ���)+� � �+>7!#� � ����)+� �����;�98'�#)+�I2�� � �1 �� C�� �������=� / )� �� � �I����� K �
�I� �
���#�+�E�'� G��B����(' �� � ���
��G � � ���#>7> )�� � (��# ��&����� (' ���(A� � �+2B�#('(� ��M8*� � ���1�7���FG��7��� �����
� � (��� ���)M��>I)��#��2��7���������#> 2'� � �� �� C�� �1�7��� � C �1�#���'��2 /  �� � �1�'� � � � � > ������2 (� ��*)+� ��� η(t) �
0 ≤ t ≤ T � � � � (�>��7� K?/  ��(� � ���')+! 5 � � " � �#�'2 T = 24 � �'� �  � � , � >7����� ��K � �5��� �� ��>72�� � ���������1�'� � �M� ���  / �#)��&��>7�+4����1�7���F)M��� C � 2�� � )� �� C �+2 C !F�1�'� � � � � � �E2���> / �# 
>���� K �� �(A�� ��7�*2 � �1���+� � / �@G ��� �  � � G �?���M4#� )��'� � �+� ��� )�� � >���� K T ��� �# �2��+ =���
 ���2 � )�� �1��� 4��# �� �#��)+� � / �1��� � � �1� � ����� ,- �%�#>�>E�1�� ������@8'� � (�>7� � �1��� �#('(� ��M8*� � ���1�7��� 2��@<����+2 C !)��� , % � � � 4��+ �! �#)+) �  ����1� ,� ��� � � (��# �1��) � > �� �>7! K �E�*2  �� ��� >7� � )M��� C �&�98*(�> �#�7����2 C ! �1��� / �#)+�����������1���& ��+> �����74#�
�� � ��� I� / �1��� � ��2�2�>��+( �#���
� ��(�(� ��M8*� � ��������� µ̄+(u) � � �#> � � � � )+��� � �1�#�
� / �� (A� � �5�1�74#� u

4#��> � � � ����2 ������)+�&����� �� � ��� � )��#��)+��> ��� , � , µ̄+(h)
µ̄+(h0)

� � )�>7� � � ��� µ+(h)
µ+(h0)

,
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 �@� ��� )���� � ��2��+ 3�1��� � ��� )+���
���#�7����� K ����>7! ����� $ � ����� � �#� )+� � �7��� G �M4���� � , � , ηl(t) =
σ R cos(ωt + φ) ��G����� �� R � � � � ������2��# �2/� � !E>7��� K � 2'� � �� �� C�� �1�+2F4#�� �� � C >�� �#�'2 φ � �
� � ��� / �� � >7!F2'� � �� �� C�� �1�+2B 1����2�� � (���� � �#� G�����)�� � � ���'2���(A����2'���
� � / R

,�����C � / �# ��
σ2 � � �1�'�J���'�� K ! � / �1��� G �M4#� , � ��� � �7> C �� ���1 1��� ��/ �� � � / �����J)+� � �7���?GI�M4��B� �
ηH(t) = σ R sin(ωt + φ)

,�� �'� � �1�
��� � � GI�M4��D)��#� �1���+� C � G� ��5�������?� �3/ ��>�>7� G ���

η(t) = σ R cos(ωt + φ) +
ω2

2g
σ2R2 cos(2ωt + 2φ) 	 % �
�

= ηl(t) +
1

2κ
(ηl(t)

2 − ηH(t)2),

G����� �� κ = g/ω2 � � �1�'� GI�M4�� � �'� C �+ 	���� 2'����(&G �6�1�� � � � / �1��� GI� 4#� G��5�1� /  ���� � ����)@!
ω
, � � � ���#>7>���� G K �����+ 1�#>7��"������ , % ���#��2&>��@� ηl(t)

C � � $&� ����� � �#� � ����G��5�1� � (A��)@�1 ���
S(ω) G��'��>�� ηH(t)

C � �5� ��� ��> C �� � �� 1�#� ��/ �� �?, 	 - � � � G ��>7>��H��� G�� ������� ηH(t) � � �#> � � �
$&� �'��� ���#�=(� ��E)�� ��� 2��@<�����2 C !=�#2�2��7� K −π/2 ��� �1����(���� � � � � / �#>7>'���'2��74E��2 � �#>E)�� � �����
G �M4�� � )+��� � ���7� � �1�7� K ηl � � �+��
I �� �
�  ��#��2�
 �M�#2 C �+���1�+ D	 � 
 � �#� / �� 32�� � ) ����� �7���?� / �����
(� ���(A�� �1�7� � � / ηH(t)

, � � �98*� >7�+�
η(t) = ηl(t) +

1

2κp

(ηl(t)
2 − ηH(t)2), 	 % 
��

� L



G����� �� κp = g/ω2 �#��2 ωp � � �1���%( ��� � /  ���� � ����)@! � / �1��� � (A��)@�1 ��� S(ω)
, 	 � ���

S(ω) )���� � ���?���F�1��� � ��� �� ���)M��> )�� � ( � �1���1�7��� � K �74�� � κp = 29.76 �  ��#2	� ��� , �- � �E)��M����� K  ��#(��
!������ (� ��E)�� ��� 	 ��� , % 

�A� � � � � �@�1� � � �:��� �+2&��� � �E2���> � ��� ���  / �#)+�
��>��@4����1�7��� G������ �1����(A� GI�+ � ( �+)+�� ��� � � )�����)+���
�1 ����1�+2 �# �� � ��2=�1�'�3( ��� � /  ���� � ����)@!
ωp �#��2 ������ �� / �� ��B�#>7> G �M4#� � ���M4��?�7� � GI�M4��B� ��� C �� � )+>�� � � ��� κp

, �*� )�� � �M� � �
)M�#>7>���2�� 
���� ����� � 
��5� ,�� ��� )� �� � �32�� � �1 �� C�� ������� / �� ����� (� ��*)+� ��� ��� , % 
D� � � � �H��� G�� �
��� GI�@4��� � � � �&�#(�(� ��M8'� � �6�1���#� � 2�� �@8*� � � � � � �+� �  ��@4�� � �1�%�+� �#> , 	 %#L#L�L � ,- � �� �2��� �1�3)+� � ( � �1� ����� � �#2'2�>��+( ���7�
� �#(�(� �� 8*� � ����������� / �1��� )� �� ��� ��� K �7�H����� � �7� !#�
GI� �'����2 ����� ) ��� � � > ���H� K �+���� ����1�7� K?/ � �')+�1�7��� K(s, t)

, � �7��)��=�1��� (� ��E)�� ��� η(t) �
2��+<��'��2 C ! ��� , % 
'�6)M�#� �#> � � C � G� ��7���1��� ��� �7� K ��� , 
 G �I)M��� ��� � ��� , ��$ �1� )�� � ( � ���
K(s, t)

, � � GI�@4��+ �� ����� �+4��#> � ���1�7��� � / ��� , ��$ ���
4���>54�� � <���2���� K ��� K ���
4��#> � � � �#��2
��� K ���
4��+)+�1�# � � / �1�'� � �6�1 �� 8 � I − A � G�����)�� � � ����>7�M� � ��� 	 2#L�L � 2#L�L � � � ���1 ��58 � � ���

 ��� K >��@! 	 � 

����� / �# 2'�+������> �+, � ���')�� / �� �1�'� (' ��E)�� ��� 	 ��� , 

� ��� �98'('>���)+�7� � � � (�>��/ �� � � > � / �# K(s, t) �@8*� � � � � � ��� ��� , $ � �HG � � ���#>7> �'� � �5�I�7� � ���M�#2 , 	 � C�� �+ �4�� �������I���
�.8'� � (�>7� � % � $ ������ ��&�# �� ��� � � � ('>��� / �� � � > � � ��� C � ��� ��2 , �� ���&(A� ��� � C �7>��7� ! � / )+� � ( � �1�7� K K(s, t)

C ! � GI� �#>7���� ������1�54�� GI� ! � � � �����&� / �����
 ��M� � ��� � G��
!FGI� �# �� � �� �� �@8E�1�+� � �54��+>7! � � � 2'!E��� K �1�'�&���# � �� G C �#��2 )M� � � , � � � �+>7!
GI��)��#� )�����)��?�1��� � ��� �� ���)��#> � ��� C ��>��5� !F� / ����� )�� � ( � �����������?� / �1���D2��� ��74����1�54�� � � /
K(s, t) 2'�+<����+2 C !/��� , ��$ ,�� � 2�� � )+� 4#�� ���2 �1�������1����)+� � ( � �1�+2 �#(�(� �� 8*� � ��������� �
µ̄+(u)

��� �7� K ����� ) �'� � > ���H� K �+���� ����1�7� K / � ��)@�1�7��� � 2'�+<����+2 C ! ��� , ��$ ����2���� , $ �
�# �� �#> � � � �F��2��+�
�1��)��#> , � ���  ��+> �����74�� �+ � ��# � 2���� �� � C ! L , L 2 � �#��2 �����')�� )��#�C � 2�� �  �� K �# �2��+2 , � � �98'(A��)@� �1�����;�����&�� � ��� � � � / ����� � � � �&�� �2��� / �� ��1��� K ���'�� 1��>
(� ��E)�� ��� 	 ��� , 

�9�����,�.8'� � (�>7� � % � $ �#G��'�� ��3�'� � � � (�>7�� �@8*(� �� ��� ����� / �� ����� ) ��� � >��#�
�K �����+ 1������� K�/ � �')+�1�7��� � � �M4��#��>�� C >7� ,
	 � - ��13+�
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���� �

η(t)
	�
 (�� �"!$# 4 
I��� � ��2��+ %�1�'� / ��> �

>�� G���� K 4��+)+�1�# [ηl(0) ηH(0) η̇l(0) η̇H(0)]T � / "��� �� � ���#� $ � ����� ���#�J4��# ���� C >7� � � G��7���
)�� 4��# ����#��)�� � ���1 ��58

Σ =









λ0 0 0 λ1

0 λ0 −λ1 0
0 −λ1 λ2 0
λ1 0 0 λ2









, 	 $�L �

��� G����7)�� λi �# �� �1��� � ( �+)+�� 1�#> � � � ���
� � 2��+<�����2 C ! ��� , � � , - � �1�'� � )�� � ����G �
)M�#� )�� � ( � ��� K(s, t)

C ! � � (�>7� !E�7� K �7� � 2��+<��'�7�1�7��� � ��� , � % � �1� K �+������ G��5�1� � � � �� ������� � ������)M��> � �#����( � > ��������� �

K(s, t) = − log(λ0) −
1

2
log(det(A)) +

σ2

2
t2 +

κ2
p

2
tTA−1t, 	 $ � �

G����� �� σ2 =
(

λ2 − λ2
1

λ0

) �;����2 �1��� (2, 2)
� � ���� ��58 A = A(s, t) �#��2 �1�'�J4��+)+�1�# 

� �



t = t(s, t) �# �� 2��@<�����2?� �3/ ��>7>�� G �

A(s, t) =





− s
κp

− σ2
(

t
κp

)2

+ 1
λ0

2λ1

λ0

t
κp

2λ1

λ0

t
κp

s
κp

− σ2
(

t
κp

)2

+ 1
λ0





�#��2
t(s, t)T =

[

s

κp

+ σ2

(

t

κp

)2

− λ1

λ0

t

κp

]

.

� ��� � �6�1 �� 8 A ��� ��� , $ � � � ����>5! (2, 2) � �1� ��� �7� � 2��@�1�� � �7���#�
������2 ���
4��+ � � �# ��
�M� � !B�1� G� ��7�1�D��� �#� �98'('>���)+�7���#���#>5!H�1��)��#> G �M! , � �#��� �1���6� �1��� K(s, 0)

/ � ��)@�1���#� � �
2��+<��'��2 / �# s ∈ (−κp/λ0, κp/λ0)

,
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1)

��������� � ��� � �#2�2'>���(A���7�H�&��(�(� ��M8*� � ��������� ��(�(�>��7��2 / �� ���� � �� G �0C �#��2 � �1� �#� � �&� �M� ,	�

� � �+> �����74#� �+ � ��# � � / ����� �#('(� ��M8*� � ���1�7��� � µ̄+(u) 	�2�� � ���+2 >��7��� � �#��2 ��� , %

	�2��#���1�+2 >����'� � ,�� 
�����
�� 
I�#��2��7���������#>�2�� � �1 �� C�� ������� � / )� �� � � � � (�>7�7� � 2�� � Ac ��� , � ,
P(Ac > h|Ac > 1) � h [m]

, -  � �� K�� > �# >��7��� � � � ('�� ��7)M�#>I2�� � �1 �� C�� ������� � � �1� � ������2/  �� � � � � � >����1�+2 % N � �'� �  � >���� K ���# � �� G � C �#�'2 � ���
�#��� � � ���'� 2������1�+2 >7����� � $ � ����� ���#�
�#(�(� �� 8*� � ��������� 	 η = ηl �@�A� , � , �1�'�D2�� � �1 �� C�� �1���#�?� / Ac

K �54��+�B��� ��� , $ �#��2?2�� � ����2
>����'� � �1�'� �#(�(� �� 8*� � ��������� C � � �+2?��� µ̄+(u) � ��� �7� K ��� , % � ,

� %



� � � �  �� ��� G ��� �+4��#> � ��������� � / �#)�) �  1��)+! � / � �#2�2�>7��(A�����
�%�#(�(' ��M8*� � ���1�7��� � /
)� �� ��� �7� K �7�H����� � �7� ! µ+(u)

, - � �#>�>3< K#�  �� � ��>��7��� � �1���6�  ���(� �� � �+�
�  �� ��� >7� � 2��+ ��74#��2/  �� � ����� $ �@8'�#)@�'& )+ �� ��� �7� K �7�H����� � �7� ! µ+(u) G��7>�> C �?(' �� � ���
�1�+2 C ! 	 � ��>��72 >7����� � �9���� �7� K µ̄+(u)
C !?	�2�� � ���+2 >��7��� � �@��G����7>��3�1�'�D	 2��#���1��2%>��7��� � G��7>�> C � ��� �+2 �1�& ��+(� �� � ���
�

 �� ��� >7� �&/ �# >����'�M�# $ � ����� ���#� � �M�'� � , � , η = ηl

,)� ���%�#)�) �  1�#)@! � / ����� � �#2'2�>��+( ���7�
�
�#(�(� �� 8*� � ���������:�*G��7��� K �����+ ��7)&�'�#����������� f spm ��G���>�> C � � �M� ���  ��+2 C ! � �M�#� � � / �����
 ���>����1�54�� �+ � ��# 2'�+<����+2J� �

Erel(u) = (f spm(u) − f exact(u))/f exact(u) · 100 [%],

G����� �� f exact(u) � � ����� ���# K �+�34��#> � � �1� �#(�(' ��M8*� � ���1� ,- �7 � ��G � )�����)��?�1���=�#)+) �  ��#)+!J� / �1�'� ���� � �#>7��"+��2 � �#2�2�>7��(A�����
� �#(�(� �� 8*� � ���������
� / ����� 2���� � �7� ! � / η(0) � f̄(u)

, � ����)+� f̂(u) �7�H��� K  ����1� � �1� 1.0013 � f̄(u) ≈ f̂(u) �
��� GI�@4��� G � � �1�7>�> �����+2 ��� )�����)�� �'� G )�>7� � � f̄(u) � � �1� �����B�1 � � 2���� � �7� ! fη(0)

,
� ���D�1 � �D2'��� � �7� !?� � �'�#� K �74��+� C !B���B�@8*(�>7��)��5� / �� � � > � �#��2B��� � �1� C � )�� � ( � ����2
� �'� �+ ���)��#>�>5! ��� �7� K �1�����#��� � 2�� � ��� � �������#> �7�
�1� K  1���������$� � �+� ��� , $ $ , � ���=��)�) �  1�#)@!
� / f̄(u) � �  �� � �# ��� C >�� G��7���D�1���I ���>����1�54�� �� � ��� �� �� � �'2 0.1%

/ �� u ∈ [−6, 9]
, 	 � �#���

�1����� �7�4�.8'� � (�>7� � % � $ ������ �� � � ��� / �� �D� > � / �# �1��� 2��+� � �5� ! � / η(0) �M4��#��>�� C >�� , �� �@8E�M� GI�%)�����)�� �1��� �#(�(� ��M8'� � �6�1���#� µ̄+(u) � / �1��� )� �� ��� ��� K ���
�1�+� � �5� ! µ+(u)
,

� ���  ��+> �����74#� �+ � ��� I� � (� �� � ���
�1�+2 �7� - � K�, � 	 	�

� � , � ����)+ �� ��� �7� K ���
����� � �7� ! µ+(u) � �
)�� � ( � ����2 C ! ��� ��� K ��� , $ N ��G�����>7� � �#2'2�>��+( ���7�
����(�(� ��M8*� � ��������� µ̄+(u)

C ! � ���#� �
� / ��� , % $ �6G��7��� K(s, t)

K �54����D���,��� , $ � ,�� �'�3�#(�(� ��M8'� � �6�1���#� µ̄+(u) � � ( �+ / �� � �7� K
4��� !FGI�+>�> K �54E��� K �� ��+> �����74#� �� � ��� C ��>�� G � L � � � )��#� C � � �����?��� - � K�, � 	 	 

� � ,- �7���#>7>7!&GI� � �  ��%�1�&�1��� � �#��� ���'C ����)@�3� / ������(��#( �+ ��H�1���;�#(�(' ��M8*� � ���1�7���=� / �����
2�� � �1 �� C�� �������=� / )� �� � � ���+� K �
� 2��+<�����2 C !1��� , � ,.��� � ��� G�� ��� - � K�, � 	 � 
�� � 
�� �@�
�����
�#)�) �  1�#)@!�� / �1�'�3(� ���(A� � ��2=�#(�(' ��M8*� � ���1�7���D� � 4��+ �! K �E�E2 ,�� � )M���%��> � � � ���3�������.�����
�;�M!E>��+� K � 2�� � �1 �� C�� �������:��2��+<�����2 C !������; �� K �
� ������2 � ��2�� � / ��� , $ G��5�1� Hs = 7 � ��� �
)�>����# �>5! � �'2��� �� � ��� � ���1� � �1��� GI� 4#� �'��� K �H� ��,
�HÁK¶zÄ
Ã"¸¹² � ��� î í ¬�� ©&� ³oÃ�²bÊ%»oÉ\È,Ä ��Â,²b²bÃÀÐ°¶ »o²RÉ�³��
��� ��� �1���B(' ��+4E�7� ��� �98�� � (�>7�JG � C � K ��� G��5�1� )+� � ( � ���6�1���#� � / �1�'� � �#2'2�>��+( ���7�
�
�#(�(� �� 8*� � ��������� f̂(u)

, � �+ ��=�1���=�7�H��� K  ��#> I =
∫

f̂(u) du = 0.9997
,)� ��� � � �M�#� �

�1�������1���=�#('(� ��M8*� � ���1�7���J� � �#> � � � � � (A2 / , � � G �+4��+ �� �1�'� �1 � � 2���� � �7� !B� / η(0) � �
���#� �H��� G�� / �� �1��� (' ��E)�� ��� �#��2 ���+��)�� GI��)��#� ���#��)�� � (��# �� f̄(u) G��7��� fη(0)(u)

,
� �&� �  ��B2��� ���)@�1>7!F��� �1�'� �#����>7! � � � � / �1���D�#)�) �  1�#)@!J� / �1���D�#(�(� ��M8'� � �6�1���#� µ̄+(u) �
2��+<��'��2 C ! ��� , % $ G��5�1� K(s, t)

K �54���� C ! ��� , ��$ �6� / �1��� � �M�#� � (A)� �� ��� �7� K ���
�1�+� � �5� !
µ+(u)

, � �� ��3G �����M4��;�#� �#2�2��5�1���#���#>E2�� " ) � >7� ! �7� �1���6� GI� 2�� ���#� ���M4#�;���H! � � � (�>7�� �@�1���E2 �1���@4��#> � �6�1� µ+(u)
, � ���+ �� / �# ��#��G � )+��� � �72��� �1��� µ+(u) 4��#> � � � )�� � ( � ����2

G��7�1� �1���&� ��� �� ��7)M�#> � �+�����E2 ����� �+2 C ! �
	 ��� �#��2/0J�#)����#2'� 	 %�L�L�L �3� � �1��� ���� K �@�
4#��> � � � / �� �1�����#(�(� ��M8'� � �6�1���#� , � � � ���#>7>  �� / �+ ��� �1�'� �I� �+�����E2%���+ �� C ! � ��� �� ��7)M�#>� �@�1���E2 ,,� ���= ���> �6�1�74#���� � ��� � � (� �� � ���
����2 �7� - � K�, % 	 	 

� �;�#��2 GI�=)M��� � ���=�1���6�

��$



�1���  ��+> �����74#� �� � ��� 3� �3� � )�� ��� �#>�>7�� ���F�1��� � �@8'� � (�>�� ,�- �7���#>�>5!��E��� - � K�, % 	 � 
�����
�� �
�1��� �#)�) �  1��)+! � / ����� �#(�(� �� 8*� � ��������� � / �1���&)��#��2��7���������#> 2�� � �1 �� C�� �1���#�F� / ����� )+ �� � �
����� K �
� K �54���� �1���6� )� �� � � � �# �� �'� K ���+ �����#�B�#��� � �+���� ;� � (� �� � ���
����2 ,;- �J�1���&< K��  ��
GI� )M�#� � ��� �@8*)��+>�>��+�
� � K  ���� � �+�
� C �+� G �����B����� �#(�(� �� 8*� � ��������� �#�'2?�1�'� � � (��7 ��7)M�#>
2�� � �1 �� C�� �������F� C ���#�7����2 /  �� � � � � � >����1�+2 � �M� ���  / �#)+� �+>��+4���������� ,
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1)

��������� � ��� � ��2�2�>��+( �#���
�3�#('(� ��M8*� � ���1�7���%�#(�(�>7����2 / �� � ��)��#��2F�� �2'�� � �*2'��> / �� � �M�
��� ���'<��'�7�1�32'��('��� �#�'2�� � � ��� � � � ( �+)+�1 ��� , 	�

� � �+> �����74��3�+ � ��� � � / �1��� �#('(� ��M8 �
� � ���1�7��� � µ̄+(u) 	�2�� � ����2 >����'� ���#��2 ��� , % 	 2��#���1��2 >����'� � , � 
�� � 
�� 
I����2'�7�1�7�����#>
2�� � �1 �� C�� ������� � / )� �� � �D� � (�>��5� � 2�� � Ac � � , � , P(Ac > h|Ac > 1) � h [m]

,%-  � �� K�� >��# 
>����'� � � � (��� ���)M��> 2�� � �1 �� C�� ������� � � ��� � ���1�+2 /  �� � � � � � > �6�1��2 % N � ��� �  � � �M� ��>7�+4����1�7��� �
2��#������2 >7����� � $ � ����� � ��� �#(�(' ��M8*� � ���1�7���?	 η = ηl �@�E� , � , ������2�� � �� �� C'� �1�7���=� / Ac

K �74#���
��� ��� , $ �#��2 2�� � ���+2J>��7��� � �1���&�#(�(' ��M8*� � ���1�7��� C � � ��2?��� µ̄+(u) � ��� ��� K ��� , % � ,

� �#�1� �1���6�;����� 2'� � �� �� C�� �1�7��� � / �����D)+ �� � � ���+� K �
� / �� 3�1��� ���# � �� G C �#�'2 � �1� �#� � �� �M�F����2B�1���D)�� � (�>��@�1� � � �#2� ����1�7) � � �E2���> 2����:�+ � �# K �7���#>7>7! /  �� � �M�#)�� ���1���+ ,*� �� ���#>7>�� � �#�
��� / !J����� ��C ! K �74E�7� K �1�'� � ��"+� � / �1�'� � � � )M�#>7>���2������	��

��������� ��� ����� � � �:� , �
� / �1��� � �M�F���#2 �1�'� � � � � � � � ��� � � � (A��)@�1 �'� / �� � L 2��M! � � �1���#� 	���� �M4��+ 1� K �M�
����� GI� 4#�=��� � L 2��M! � G � � >�2 ���M4#��)� �� � �&��� K ���� �1����� �����������	��

��������� � , � �'� � L
2��M! � )+ �� � �&����� K �
� � � (' ���2'��)+����2 �1� C �)� , N � ��� � 
 , � � � � �#��2 
 , � � ��� � � / G � � �E2���>
�1��� ���  / �#)+� C ! � ���#� � � / �=$ � ����� ���#�F>��7���M�# � ��� ηl �'�1��� ���# � �� G �0C �#��2 � �1�
����� ��� �M�	�2��@<�����2 C ! ��� , % 
�� �#��2 �1��� � �+)����'2 � �� �2��� � �M�?	�2��@<�����2 C ! ��� , 

�9�� �� � (A��)@�1�74#��>5! ,

� N
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���!�, !�7�
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�9	;:=<>�!�?�,+@�� 2A
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�J�� 2���!���K��)

µ̄+(u) L �J���2�
�,������/�NM4���
�O���
�
µ+(u)
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Ac b �cBd��B P(Ac > h|Ac > 1) b h [m]
B

ef ! !��Q'A
���� 4���(�
��g_��%&�
�( !�(+#�����
���h�� !�(^
A/�!���'�8���2���(%i�X���,�O)* !��%j�!�(%kA
���������$-h3�lX-f�
�'A/ !�k�2�#�
�,���@m������(�'� b �
���!�!�,�n�(���
��g;o7��A/�!�!�����n���/�
 !�#"$��%&�����(�'� L η = ηl

M b �pBq��Ba���/�r�
�(�2�� 2��^
A$���������)
Ac

Q'�\m'���&�(�&sut0BRvw���
�
�J���2�
�,�&�����/��gx���
�;���
�/ !�#"$��%&�����(�'�k^J���2�,�
�'�
µ̄+(u) b A
�!�(�
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��B�	��
���2�#�8����%
�S�
�,�(�,�D^���%
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�$-f�� !�
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�#(�(� �� 8*� � ��������� � �3��� �#>7>.	 C �+>�� G % � � / �� 3(A� � �5�1�54�� u 4#��> � � ��, � - � - � K�, $ 	 � 
�����
�� �
�1��� �#)�) �  1��)+! � / ����� �#(�(� �� 8*� � ��������� � / �1���&)��#��2��7���������#> 2�� � �1 �� C�� �1���#�F� / ����� )+ �� � �
����� K �
� K �74��+�?������� )� �� � � � �� ��&��� K �'�� �1���#�?�#��� � �+���� �� � (� �� � ���
�1�+2 , ��� C � / �� �� G �
)M�#� � �+� �1��� �98')+��>7>����
� � K  ���� � �+�
� C �@� GI�+��� �1��� �#('(� ��M8*� � ���1�7���F�#�'2 �1��� � � (��7 ��7)M�#>
2�� � �1 �� C�� �������F� � �1� � �6�1��2 /  �� � � � � � >����1�+2 � ��� ���  / �#)+� �+>��@4#�6�1���#� ,
¯'î í ¯ ��ð�¬ ì î í ¬
- � ����� (���( �+ IGI� ���M4#� 2�� � ��� � �1 1�6�1��2 ������� ����� )� �� � ��2�� � �1 �� C�� �������%� / �1��� GI�M4�� � �7�
�1��� � �+)�����2 � �� �2��� ; 1�#��2'� � � ��� � �*2��+> ��2'�+<����+2 C ! ��� , 
'� )M��� C �&4#�� !J��)�) �  1������>7!
�#(�(� �� 8*� � ������2 C !���� , % � , � ��� / �� � � > � �;/ �� �������)� �� ��� ��� K �7�
�1��� � �7� !B�# ����98*(�>��7)��7�C�� � )����
�1�#��� ��� K ���+ � �# �2��+ 2��� ��74������74�� � � / �1��� ) ��� � >��#�
� K ���'�� 1�6�1��� K / � ��)+�������:� G��'��)������� ��>�>7! ��� 4#� �1� C � )�� � ( � �1��2 � �'� �+ ���)��#>�>5! ,%� �'� (� �� K  1� �%� ��� 0 ��� 
 � & )+� �)�
( � �1�7� K �1��� � �#2'2�>��+( ���7�
�D��(�(� ��M8*� � ��������� � / �1��� )� �� ��� ��� K ���
�1�+� � �5� ! �# �� �M4��#��>�� C >7� ,� ��� (� ���( � � ��2 � �@�1���E2 K �54�� �  �� ��� >5� � � � ��)�) �  1����� � � �1���%)�� � (�>��7)M������2 �#��2 � >�� G
� �'� �+ ���)��#> � �@�1���E2 ��� ��2 C ! � 	 ��� �#�'2�0J�#)�����2�� 	 %#L#L�L �@� G��7��� �%��� � �  ���2 � )@�1�7���/  �� � � 2��M! ���B� / �+G � �+)����'2 ��, � ��� �'�+G � �+�1�'�*2 � � / � � ��� / � >7>7! � � �1� � ������2 �#��2
� �'� �+ ���)��#>�>5! � �1� C >�� , � ��� � �%�� �� � � (A�� ��1�#�
��(' ���(A�� �1��� � � / �#��� G�� � ��� � ��� )�� � ( � ���
�1����2�� � �� �� C'� �1�7���B� / )� �� � � �'��� K �H� � 4#�� >��#� K (A�� ��7�*2 � � / �1� � � G��'�� �������� � ��� � �������
4#�� ���� � ��� , � , �1� � � 8*��2F�1��� 2�� � �� �� C'� �1�7��� � (� �� � ���
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(

(
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(
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